

$$1 \cos \alpha = \sin^2 \alpha \Rightarrow 1 \cos \alpha = 1 \cdot \sin^2 \alpha \Rightarrow \frac{1}{\cos \alpha} = 1$$

$$= 1 \cos^2 \alpha \Rightarrow 1 - \cos^2 \alpha = \frac{1}{\cos \alpha} \Rightarrow \alpha, \begin{cases} 2k\pi + \frac{\pi}{2} \Rightarrow \frac{\pi}{2} \\ 2k\pi - \frac{\pi}{2} \Rightarrow \frac{3\pi}{2} \end{cases} \quad \{0, \pi\} \text{ و } \{ \frac{\pi}{2}, \frac{3\pi}{2} \}$$

$$\left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

به جواب

-۲

$$\sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1$$

$$\Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1$$

$$\Rightarrow (\cos^2 \alpha + 1)(\sin^2 \alpha - \cos^2 \alpha + 1) = 0$$

$$\Rightarrow \begin{cases} \cos^2 \alpha = 1 \Rightarrow \alpha = \pi \\ \sin^2 \alpha - \cos^2 \alpha + 1 = 0 \Rightarrow \alpha = 0 \end{cases}$$

$$\sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1$$

-۳

$$\Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \Rightarrow \sin^2 \alpha + \cos^2 \alpha = 1$$

$$\Rightarrow (\sin^2 \alpha + 1)(\sin^2 \alpha - \cos^2 \alpha + 1) = 0$$

$$\Rightarrow \begin{cases} \sin^2 \alpha = 1 \Rightarrow \alpha = \frac{\pi}{2} \\ \sin^2 \alpha - \cos^2 \alpha + 1 = 0 \Rightarrow \sin^2 \alpha + \frac{1}{\cos^2 \alpha} = 0 \Rightarrow \alpha = \frac{\pi}{2} \end{cases}$$

$$\alpha, \left\{ \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

-۴

$$\frac{1}{\sin(\frac{\pi}{2} + \alpha)} + \frac{1}{\cos(\frac{\pi}{2} + \alpha)} = \frac{1}{\cos \alpha} + \frac{1}{\sin \alpha} = \frac{\sin \alpha + \cos \alpha}{\cos \alpha \sin \alpha} = 0$$

$$\Rightarrow \sin \alpha + \cos \alpha = 0 \Rightarrow \sin \alpha = -\cos \alpha \Rightarrow \alpha = \frac{3\pi}{4}, \frac{7\pi}{4}$$

$$\rightarrow \lambda_r - \lambda_v = \frac{\delta\pi}{1c} - \frac{\pi}{1r} = \frac{\Sigma\pi}{1r} = \frac{\pi}{c}, \text{ q}$$

$$\Rightarrow \text{don't } \& \text{ don't } \left(\frac{r\pi}{c}\right) = \sqrt{r}$$

$$\cos\left(\lambda + \frac{\pi}{c}\right) = \frac{\cos\lambda - \sin\lambda}{\sqrt{r}} = \frac{1}{\sqrt{r}} \quad - 8$$

$$\rightarrow \boxed{\cos\lambda - \sin\lambda = \frac{\sqrt{r}}{\sqrt{c}} = \frac{\sqrt{c}}{r}} \Rightarrow (\cos\lambda - \sin\lambda) \cdot 1 - \sin\lambda = \frac{r}{r} \rightarrow \sin\lambda = \frac{1}{r}$$

$$\Rightarrow m(\cos\lambda - \sin\lambda) - r\sqrt{c}\sin\lambda = m\left(\frac{\sqrt{c}}{r}\right) - r\sqrt{c}\sin\lambda = \sqrt{c}$$

$$\rightarrow m\left(\frac{\sqrt{c}}{r}\right) - \sqrt{c} = \sqrt{c} \Rightarrow \boxed{m = 2}$$

$$\sin\left(\lambda + \frac{\pi}{c}\right) / \cos\left(\lambda + \frac{\pi}{c}\right) = 1 \rightarrow \sin\left(\frac{\pi}{c} + \lambda\right) = 1$$

$$\rightarrow \left\{ \begin{array}{l} \sin\left(\lambda + \frac{\pi}{c}\right) = 1 \rightarrow \lambda + \frac{\pi}{c} = k\pi + \frac{\pi}{2} \rightarrow \lambda = k\pi + \frac{\pi}{2} - \frac{\pi}{c} \\ \sin\left(\lambda + \frac{\pi}{c}\right) = -1 \rightarrow \lambda + \frac{\pi}{c} = k\pi - \frac{\pi}{2} \rightarrow \lambda = k\pi - \frac{\pi}{2} - \frac{\pi}{c} \end{array} \right.$$

$$\rightarrow \lambda = \frac{\pi}{c}, \lambda = \frac{3\pi}{c} \rightarrow \omega = \frac{1}{r}$$

$$\sin\lambda + \sqrt{r}\cos\lambda = \sqrt{r} \rightarrow \frac{1}{r}\sin\lambda + \frac{\sqrt{r}}{r}\cos\lambda = \frac{\sqrt{r}}{r} \quad - V$$

$$\Rightarrow \sin\left(\lambda + \frac{\pi}{c}\right) = \frac{\sqrt{r}}{r} \rightarrow \left\{ \begin{array}{l} \lambda + \frac{\pi}{c} = k\pi + \frac{\pi}{2} \rightarrow \lambda = k\pi - \frac{\pi}{2} - \frac{\pi}{c} \\ \lambda + \frac{\pi}{c} = k\pi + \frac{3\pi}{2} \rightarrow \lambda = k\pi + \frac{\pi}{2} - \frac{\pi}{c} \end{array} \right.$$

$$\Rightarrow \left\{ \begin{array}{l} \lambda = \frac{r(k\pi - \frac{\pi}{2}) - \pi}{1r} \rightarrow k = 0, 1 \rightarrow \lambda = \left\{ -\frac{\pi}{1r}, \frac{r\pi}{1r} \right\} \\ \lambda = \frac{r(k\pi + \frac{\pi}{2}) - \pi}{1r} \rightarrow k = 0, 1 \rightarrow \lambda = \left\{ \frac{\delta\pi}{1r} \right\} \end{array} \right.$$

$$\rightarrow -\frac{\pi}{1r} + \frac{\delta\pi}{1r} + \frac{c\pi}{1c} = \frac{r\pi}{1c}$$

$$\{ \sin n \sin(\frac{r\pi}{r} - n) \}$$

$$\rightarrow \{ \sin n \cos m \} \rightarrow -r \sin r n \rightarrow \sin r n = \frac{1}{r}$$

$$\rightarrow \left\{ \begin{aligned} r n &= r k \pi + \frac{11\pi}{r} \rightarrow n, k \pi, \frac{11\pi}{r} \rightarrow n = \frac{11\pi}{r}, \frac{r k \pi}{r} \\ r n &= r k \pi + \frac{V\pi}{r} \rightarrow n, k \pi + \frac{V\pi}{r} \rightarrow n = \frac{V\pi}{r}, \frac{19\pi}{r} \end{aligned} \right.$$

$$\rightarrow \sum_{k=0}^{r-1} : \frac{11\pi}{r} + \frac{r k \pi}{r} + \frac{V\pi}{r} + \frac{19\pi}{r} = \frac{5 \cdot \pi}{r}, \delta \pi$$

$$(1 + \cos r\theta)(1 + \cos r\theta)(1 + \cos r\theta) = \frac{1}{\lambda}$$

$$\rightarrow r \cos r\theta \times r \cos r\theta \times r \cos r\theta = \frac{1}{\lambda} \rightarrow \cos \theta \cos r\theta \cos r\theta = \frac{1}{\lambda}$$

$$\frac{\sin \theta \cos \theta \cos r\theta \cos r\theta}{\sin \theta} = \frac{1}{\lambda} \rightarrow \frac{\frac{1}{\lambda} \sin \lambda \theta}{\sin \theta} = \frac{1}{\lambda}$$

$$\rightarrow \sin \lambda \theta = \sin \theta \Rightarrow \left\{ \begin{aligned} \lambda \theta &= r k \pi + \theta \rightarrow \theta = \frac{r k \pi}{V} \\ \lambda \theta &= r k \pi + \pi - \theta \end{aligned} \right. \rightarrow \theta = \frac{r k \pi + \pi}{r}$$

$$\rightarrow \theta = \left\{ \frac{r\pi}{V}, \frac{r\pi}{V}, \frac{5\pi}{V}, \frac{\pi}{r}, \frac{\pi}{r}, \frac{\pi}{r}, \frac{V\pi}{r} \right\} \rightarrow \max = \frac{V\pi}{r}$$

$$\sin(rn) \sin(rn) \rightarrow \sin(rn) = \cos(rn) = \sin(\frac{\pi}{r} - rn)$$

$$\rightarrow r n = k \pi + \frac{\pi}{r} - n \rightarrow n = k \pi - \frac{\pi}{r} \rightarrow n = \frac{k\pi}{r} - \frac{\pi}{r}, \frac{r k \pi}{r}$$

$$\rightarrow n = \frac{r k \pi - \pi}{r} = r k \pi - \pi \rightarrow k = 1, 2, 3, \dots$$

$$\rightarrow n = \left\{ \frac{9\pi}{r}, \frac{11\pi}{r}, \frac{13\pi}{r}, \frac{15\pi}{r} \right\}$$

$$\sum_{k=0}^{r-1} = \frac{(9+11+13+15)\pi}{r} = \frac{48\pi}{r} = 5\pi$$